
4 EXAMIKATION PAPERS IN ARITBOIETIC.

.^^«!i^'-^^®
first of four numbers is 8793, the

second IS greater than the first by 2019, the third
IS equa to the sum of the fii^t and second, and theWh IS 287 more <Jan the sum of the other three

;

find the sum of the four numbers.

EXERCISE II. t
1. Subtiuct 3747632829 from 9176540347.

TRfioI- *.
® ^^^ remainder in subtraeting

786940 as often as you can from 5508624. Howmany times can you subtract ?

If he pay $67o each year, how many years wiU ittake him to pay for it ?
J' J' « » w'" ^^

given38972f
''""'^^^ "^^^ ^''6493 be added to

f*to fkJ^T *^® ^^^rence between 869 and 614837take the difference between 976841 and 961932
0. A drover receives $9680 on Monday,' onTuesday he pays out $2365, on Wedn^day $1462on Thursday $1274, on Friday $1687.1nTthe ^.

rfcd^y'r'"^'^^-
«—^do^i^epa/o^t
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^il^^\ ^^ *^^ numbers is 706932, their

number
'' ^^^" ^^^^' ^^°^ the smaUer

1, X ^'rAi ^' ^^ ^ ^^^ * race of J 5840 feet A
beats B by 165 feet, B beate C by 139 feet Byhow much does A beat C ?

^

9. By what number must one mmm lass six


